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 ДлO 6EеE т8по6 по6еDE=оEт8 

 ЭDDект86=ое оG8Iе=8е 

 �е76Dед=O9 

 Не по6Dе6д4ет по6еDE=оEтP пл8тк8 

 Не 6O<O64ет F6ет 
 �OEтDO9 Dе7улPт4т 
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'д4л8телP Fе<е=т4 ОE=о68т !Q9DEкD8= SGl1 пDед=47=4Gе=4 длO 5OEтDо7о 8 ле7ко7о 
оG8Iе=8O 74т6еDде6Hе7о 5ето=4, Fе<е=т4, 78пEо6OE 8 876еEтко6OE D4Eт6оDо6, 
Hтук4туDок, пол8<еD=OE Hп4кле6ок, пл8тоG=OE клее6, 74т8Dок, �Д кD4Eок 8 6OEоло6 E 
лN5о7о т8п4 по6еDE=оEт8, 6 то< G8Eле Eо EтDо8телP=о7о 8=EтDу<е=т4. ОEо5е==о 
Dеко<е=дуетEO 8EполP7о64тP поEле пDо6еде=8O Dе<о=т=OE 8 EтDо8телP=OE D45от. 
�D8<е=OетEO длO оG8Eтк8 Eт4DOE <е6пл8тоG=OE H6о6 от Fе<е=т=о9 74т8Dк8 

 �КО����'��/� О!�О����Я  

�ето=, Fе<е=т=Oе 8 78пEо6Oе <4теD84лO, кеD4<8GеEк8е, <ет4лл8GеEк8е 8 пл4Eт8ко6Oе по6еDE=оEт8. 
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  4EEод 100-200 <л/<2

 

�Dе<O о5D45отк8 по6еDE=оEт8 5-10 <8=утO 

&е<пеD4туD4 6о7дуE4 8 оE=о64=8O пD8 =4=еEе=88 +5°!&+35°! 

&е<пеD4туD4 ED4=е=8O 8 тD4=EпоDт8Dо6к8 +5°!&+35°! 

Ф4Eо6к4 750 <л 

!Dок ED4=е=8O 24 <еEOF4 
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˂ 20% оD74=8GеEк8е к8EлотO, ˂ 5% =е8о=о7е==Oе ���, ˂ 2% Dу=кF8о=4лP=Oе до546к8. 
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ОG8Iе=8е по6еDE=оEт8 <о6=о =4G8=4тP, ко7д4 оE=о64=8е 7ото6о к пDо6еде=8N поEледуNI8E D45от 8л8 
QкEплу4т4F88, Eо7л4E=о Dеко<е=д4F88 пDо876од8телO <4теD84ло6, 8EполP7уе<OE 6 отделке 8 EтDо8телPEт6е. 
�еDед оG8Iе=8е< =ео5Eод8<о пDо6еD8тP де9Eт68е оG8Eт8телO =4 =е5олPHо< 747DO7=U==о< уG4Eтке. Н4=оE8тP 
оG8Eт8телP Eледует толPко =4 747DO7=е==Oе уG4Eтк8 по6еDE=оEт8, деD64 Dл4ко= E D4EпOл8теле< =4 D4EEтоO=88 15-

20 E<. ЧеDе7 5-10 <8=ут о5D45от4==уN по6еDE=оEтP о58лP=о 8 тI4телP=о пDо<OтP 5олPH8< кол8GеEт6о< 6одO, 
8EполP7уO 6еEткуN Iетку 8л8 Hп4телP. �D8 =ео5Eод8<оEт8 по6тоD8тP пDоFедуDу. ОG8Eт8телP D47DуH4ет Fе<е=т 8 
78пE: =е допуEк4тP поп4д4=8O оG8Eт8телO =4 по6еDE=оEт8, =е тDе5уNI8е оG8Iе=8O. Не пD8<е=OтP пD8 те<пеD4туDе 
=86е +5°!. Не допуEк4тP дл8телP=о7о 6748<оде9Eт68O D4Eт6оD4 E оG8I4е<о9 по6еDE=оEтPN. �Dе=е5Dе68телP=ое 
пD8<е=е=8е E<O6к8 <о6ет Eт4тP пD8G8=о9 =ео5D4т8<OE по6Dе6де=89 оE=о64=8O. 
�� / � ��О!&О ОЖ�О!&� 
�D8 D45оте 8EполP7о64тP EпеFоде6ду 8 EDедEт64 8=д868ду4лP=о9 74I8тO оD74=о6 дOE4=8O, 7Dе=8O, ко6=OE 
покDо6о6. �D8 поп4д4=88 <4теD84л4 6 7л474 пDо<OтP 8E 5олPH8< кол8GеEт6о< 6одO 8 о5D4т8тPEO к 6D4Gу. �оEле 
6Oпол=е=8O D45от 8EполP7уе<Oе 8=EтDу<е=тO 8 о5оDудо64=8е =ео5Eод8<о тI4телP=о пDо<OтP G8Eто9 6одо9. 
�еDеGP от дете9. 
� FелOE Eо6еDHе=Eт6о64=8O теE=оло789, ООО «!едDуE» EоED4=Oет 74 Eо5о9 пD46о 6=оE8тP 87<е=е=8O 6 пDодукF8N, =е 74тD47864NI8е еU 
оE=о6=Oе E4D4ктеD8Eт8к8, 6=оE8тP 87<е=е=8O 6 д4==уN теE=8GеEкуN к4Dту. &еE=8GеEк4O к4Dт4 =е от<е=Oет Eо5лNде=8е EтDо8телP=OE 
=оD< 8 пD468л  Ф 8 =е 74<е=Oет =ео5Eод8<уN длO д4==о7о 68д4 D45от пDоDеEE8о=4лP=уN под7ото6ку 8Eпол=8телO. �Dо876од8телP =е 
=еEет от6етEт6е==оEт8 74 =4DуHе=8е теE=оло788 пDо6еде=8O D45от, 4 т4к6е 74 пD8<е=е=8е пDодукF88 6 FелOE 8 уEло68OE, =е ук474==OE 6 
д4==о9 теE=8GеEко9 к4Dте. �Eе пDоG=оEт=Oе E4D4ктеD8Eт8к8 ук474=O длO о5D47Fо6 пDодукF88, 6OдеD64==OE 6 теGе=8е 28 Eуток. 
! поO6ле=8е< =4EтоOIе9 теE=8GеEко9 к4DтO 6Eе пDедOдуI8е 6еDE88 Eт4=о6OтEO =еде9Eт68телP=O<8.                                                 ВеDEия 01.21 


